GREEN GARDEN MATRIC. HR. SEC. SCHOOL

Perundurai R.S.

No of Printed Tages 1 13" 0o 302719 4372 (NS)

L

Il

NMDRRNCCRINAND s o< T2Tr T2 To T2 o |

Register Number

X1 - SERTEMBER 2020
PART -1II

senfleofl gnfleflwed / COMPUTER SCIENCE

Srew 2jerey : 3.00 wawtl Cuyid |
Time Allowed : 3.00 Hours ]

(s wpmbd Edle aifl / Tamil & English Version)

[ Qurgs wICuemser : 70
[Maximum Marks : 70

SPleyenrsst : (1) eparss Aarréseshd sfurst ufeardl o eraTgT eTaTUSMENE

Instructions :
@y : ()

(i)
Note : (i)

sfluriggé Qsrerarab. &&LLE 6D Gpuidmuder, S@mns
sanarasiliiureriLid o L eanqwirssd CQsflelléseaw.

@ Beod <deg smLY @oblame LLEGCL TWHMSDEL,
2ia EGsMg Haugp@d LweLBSs Couam@id. LLBISET alefeusnE
Queéléd LwaT(HSS6YLD.

(1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

L@S -1 /PART -1

SlenerSg eNeTEE @& EL0 elenL_wefl&&aeyLb. 15x1=15

Qar@&siiul_@édrer LTHH el safled Wsaybd ghHyemLwW
e eows Comboshsss GHULpLar el ulmanb Cerss
GT(LPSEYLD.

Answer all the questions.

Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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1.

POST-at ellfleundasip

s +

(@{) Post On Self TESt‘ v : (<,) Power On Software Test
(©) Power On Self Test (/) Power On Self Text
Expand POST :

(a) Post On Self Test (b) Power On Software Test
() Power On Self Test (d) Power On Self Text

SDESIML_cupBld erg) eramaniana crair jda@?

(<=1) 645 (<) 234 (@) 876 (rF) 123
Which amongst this is not an octal number ?
(a) 645 (b) 234 () 876 (d) 123

Spsaam_eupdlad g HCauswrar efame o Wiks Haaeusd HG.

(=) Gaé (<=4,) ROM (@) RAM () EPROM
Which of the following is a very high speed and expensive memory ?
(@) Cache () ROM (c) RAM (d) EPROM

eeu(mHid QWés epoliLsefler G stgeamisamer sMlILg 6rg)?

(<=1) cllarCLmen 7 (<2y,) edlendav (@) wefl&eiv (F) i0S
Which of the following operating systems support mobile devices ?
(a) Windows 7 (b) LINUX (c) UNIX (d) iOS

EGup QardsriLLeupmieT o) 2 araf® Lamser, 2 eref® whmii Gseneuiman
Qeuallui® <pdwepnseE Qe Cuwirear QgrLiysearme G LLESHDE?

(=) efeurs@Hiay (L) smdpiser (@) deflpey (7)) euepwenp
Which is specified by the properties of the given input and the relation between the

input and the desired output ?

(a) specification  (b) statement (c) algorithm (d) definition
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10.

SésarTeupmier erg seafllGum Breorés Qumfenw Gumemm GSI_L.GO')LDLIL]LD
erefl EFowb s05S @ GOIUELEH o 9 @h?

(1) umdeyls L b (=) Cumrells @dlpenm

(&) dpflepmp (M) 56w

Which of the following notation is a mix of programming language, like constructs and

plain English ?
(a) Flow chart (b) Pseudo-code

() Algorithm (d) Structure

CH+ -enw 2 (meursdlweur wirr ?

(=) erieen LITGLIS (=) Ensm Fms

(@) QCsL 6 () Gegitemr vl GlerevL_Ls
Who developed C++ ? :

(a) Charles Babbage (b) Sundar Pichai

(c) Bill Gates (d) Bjarne Stroustrup

CHt -6 6TGl (T STAYSE Fad) Sfeda ?

(<) break (=) goto (&) switch (FF)  continue
Which is not a jump statement in C++ ?
(a) break (b) goto (c) switch (d) continue

QaoupmeT eriss saneli Camiy Hevewrar 1/0 -elbhare (PN GUEHTIIM|&ELI-
Ll Aewpsapisener Caram(Herarg ?

(<) stdio.h (<},) math.h (@) string.h (F) ctype.h
Which of the following header file defines the standard I/O predefined functions ?
(a) stdio.h (b) math.h (c) string.h (d) ctype.h

SD&ES@TauhmieT C++ -ab 6T asL@QJémeu 2ifleildst Lwe@dng ?

(1) structure (<=4, struct (@) for (FF) do
Which of the following keyword is used to declare a structure in C++ ?
(@) structure (b) struct (c) for (d) do

[ $BLULSE / Turn ovey
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11,

12.

13.

14.

15.

ergl QeuellliLenL g semenn QsmeirL BTE|HEHET 2 Gl g ?

(1) wryfwid (<) 2 apGEurdlurgsnd
(8) uoameurssd ‘ () SiHeULTESLD
Which of the following supports the transitive nature of data ?

(@) Inheritance (b) Encapsulation

(c) Polymorphism (d) Abstraction

CHt -0 @@ QasE el erésaman SPLbser @mssarn ?

(1) 4 (<)3 (@) 2 () 1
How many number of destructors can a class in C++ contain ?
(@) 4 (b) 3 © 2 d 1

lehreumeuameudmieT 6rg rhsaGel o drer Qané@ailen Sigiuen e L
Qs ane &medldan (LPEMIIT(GLD ? "

(1) udGIMEITESLD (cg) iy flob

(8) eapCurdlursso () B-@endEp ,
Which of the following is the process of creating new classes from an existing class ?
(@) Polymorphism (b) Inheritance

(c) Encapsulation (d) Super class

Qaupmer erléd swions Hmiou, mbu apg Goanssié Qererer Blrévger
Caaneu @denan ?
(=) eurmibev () B&s Bravsar (@) aveniCeur (/) LGrmegein

Which one of the foﬂowing are self-repeating and do not requj
to attach themselves ? 5 equire a compu

(a) Worms (b) Viruses (c) Spyware (d) Trojans

ter program

SPESETLIDMET 6TE) (psed 5D Hreorss Guomd eymh 2

(1) s (<) 1pd

(Q) WD QU6 ..l 9e (FF) erfed

Which of the following is the first Tamil programming Language ?
(a) Kamban (b) Azhagi

(c)  Tamil Open Office (d) Ezhil
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16.

17.

18.

19.

20.

21.

22,

L@d - II/PART - II

steneuGLEID oym) aﬁlmrrasa;@GS@ eflenL_wiefl. eSlemm eraT 24 -8@ SL_Lmuid
eSlenL_wiefl&ge L. 6x2=12

Answer any six questions. Question No. 24 is compulsory.

W dewessdear LGHser wrapel ?

What are the components of a CPU ?

HDMI erestmmred eremmet ?

What is HDMI ?

Qu&s jeolibled 2 arar LTGISTUIL Coereamenn Flenader wmene ?
What are the security management levels available in operating system ?

L
&LpM& (iteration) eremmmey ereumen ?

What is iteration ?

- @aTorHPLD GTETDTed Greven ?

What is meant by type conversion ?

C++ -6 2 @rar strlen( ) QFwpaempL LD ET(HEIS.

Write about strlen( ) function in C++.

C++ - @& @G eTemniTed eredar ?
What is a class in C++ ?
[ Slmuys / Turn over
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23.  (©&8) eranmmed eTemma ?
What is a cookie ?

24. for (int m=1; m<=9; m+=2)
cout<<my;
@) Cupsar_ Ghipopuid LL&E TEsmar (PO Qu&siu@b?
(i) GuhsarL GHweopsstar Geuallli oL 6T(PFIs.
for (int m=1; m<=9; m+=2)
cout<<my;
(i) How many times the loop will be executed ?
(i) Write the output of the above snippet.

L@ - III/PART - III
semaiCuanid opnl lamss@nse eloLwafssan. e oram 33 -5
sLU_Lmu elenweflssHe|m. 6x3=18
Answer any six questions. Question No. 33 is compulsory.

25. (1) &G Qasr®&sILL(HaTaT erefTae sRlwr, ST erand Smams. Heum erafle

DSDETET STTATHENS 6T (SIS
@ (79%)s
i) (7GEhe
@) (11110),

(<) 9eau(BLD CTERTSET ETHE 6TaTLPEMDEnU! FTTHSS eTednl 6T(LHSELD.
@ . (926)10
(i) (ABC)s
(i) ~ (450)g

(a) State whether the following numbers are valid or not, if invalid write reason.
@) (79)s
(M) (7GE)e
(ifi) - (11110),

(b) Write the number system for the following numbers.
@ (926)10
(i) (ABChg
(i) (450)s
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26.

27.

28.

29.

30.

31.

32.

saftQurdled LwuaTUESSILEL @@Lsh HmID CFTLIL PSEEIGDET
LupBl GO eTPEIS.

Write a note on interfaces and ports available in computer.

80y Qar@ssLul(Berer Gswe GemameLo Q'r_r;gﬂ@ammassh updl GHloY
QUGTE. ‘

(a) FIFO (b) Shortest Job First
Write a note on following process management algorithms.

(a) FIFO (b) Shortest Job First

Lmiieyt) LILLD erempméd ereien? feupBler @epurbaaer eTpgis.

What is a flow chart ? Write the disadvantages of flow chart ?

C++ -6 2676 ShHés QFLDGDISET GO euemrs.

Write a note on logical operators in C++.

CH+ - Qawpsan Laifl@LSDSTer A ppapsmer LLGWIHS.

List the rules for function overloading in C++.

smpflon Hrorssasser S ybstismant L igual(s.

List some of the features of Modular Programming.

saflaf Lwent Werupp Geuanrig perGlan T (HESDsET wrenal ?

lines of ethics to be followed by computer users ?

What are the guide
[ Hmuys / Turn over
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33, lS]G%T@J@Lb C++ flred @Dpenpenwis Uig$& Sp&HsTand NeTESEHES
elenL_wiaflsasayb.

Read the following C++ snippet and answer the questions given below.
class personal

{
int admno, rno;
protected:
char name[20];
public:
personal();
void pentry();
void pdisplay();
Iy

class marks: private personal

int m;

protected:

char grade[5];

public:

marks();

void mentry();

void mdisplay();
|7

class result: public marks

float total, agg;
char remark(5];
result();

void rcalculate();
void rdisplay();

7 .

(<=t) Blyed @dlpeopuie erbg cuens wrLfiobd GENLALILL Gerarg ?

(<) Marks pmID result -Qans G(gellen sremflone Lmkidlaean erps)s.

(@) Cula @iudLL Ghlpapuler oigliuemL Qend @ Wseer LD M| 1D
FmedlEsLILLL QasEpssaiar QuTsmer @GOG,

(a) Which type of inheritance is shown in the above snippet ?

(b)  Write the visibility mode of class marks and result.
(c) Name the base classes and derived classes in the above snippet.
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Slversgl eflanméseraEn ofenwaldsea .

Lu@&$ - IV/PART - IV

5x5=25

Answer all the questions.

34. (1) ()

(i
(i)

(iv)

(98.46), -enw1 @\(mhleney eraRTanTTS LOMDHMIS
(—46)1, -6 @renrigen Hlribep srenTs
gl (& : (1101010), +(101101),

s10és : (1101011),— (111010),

(145)g -enw @) (HHlepOWINE LDIDHMIS

3| 606VG)

(<) el amGLrdlan Farare) egulled o drar LeGam Smmamart UMD

(a)

(b)

aleufl&sa]Lb.

@)

(i)
(i)
(iv)
(v)

Explain the parts ofaw

Convert (98.46);, to binary

Find the 2’s complement of (—46)qg
Add (1101010), +(101101),
Subtract (1101011),— (111010),

Convert (145)g to binary
OR

indow in Windows Operating System.
[ Hmuys / Turn over
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35.

36.

37.

(=) () C++ -a efdamavaer eramprad eremam ?

{) C++ -o odrer edoasmer uph 5G5S THsgsaTHLe
edeu& e L.
S|e060g)
(<) Qsn@ésiiug L can Qsr_flar s G5 Osramamu sarsd@n C++ H7e
GRETENM GT(LPGIS.
S=T1+x+x%+...+x0 :
(@) (i) What are tokens in C++?
(i) Explain the types of tokens in C++ with suitable example.
OR
(b) Write a C++ program to find the sum of the series given below.

S=1+x+x2+...+x0

(<) CH++ -@ o ater for LL&SH@mar gam G@UTFalgalld LHML SEHS
a(HégIssT HLar eleufésa)b.
S|60608)]
(<) LI LD AMPSSD (PEPDEDWL T(H5EIGETHL6 ellaTéEs.
(a) Explain the for loop in C++ with its syntax and a suitable example.
OR
(b) | Explain call by value method with suitable example.

(<) (@) Qumrmer GCBT&EEG Arorsssas wsfsED  Sgluemi
HmSSI(HEEETL LUpD GOILL TGS,

i) Qumrmer CHTES Aroréssden Baeawse WHNHIL Samwsmer
adleufl&&ayL.

(a) (i) Writeanoteon the main features of object oriented programming.
(i) Explain the advantages and disadvantages of Object Oriented Programming.
1606051/ OR
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() Spsaan C++ Hraller QeafudianL TGS,
(b)  Write the output for the following C++ program.

H#include<iostream>

using namespace std;

class Trial

{

intx;

public:

void assign(int y)

{

X=y;

}

void test(Trial obj1,Trial obj2)
{

obj1.x=10;

obj2.x=20;

cout<<"\nValue of Object1 :"<<objl.x;
cout<<"\nValue of Object2 :"<<obj2.x;
}

void display()

{

cout<<x;

}

7

int main()

{

Trial a1,32,a3;

a2.assign(45);

al.assign(54); ;
cout<<"\nValue of first assignment :*;

a2.display(); . )
cout<<"\nValue of second assignment :;
al.display();

a3.test(al,a2); .
cout<<"\nValue of first assignmen

a2.display();
coute<"\nValue of secon

al.display();
return 0;

}

t after passing the values :";

d assignment after passing the values :";

[ Sy / Turn over
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38.  (<21) CH++ -d 2 drem L@Gaug SramLflena LMEIGSDE 5G5S 5T O

edlen&@s.
(a) Explain the different visibility mode in

C++ with a suitable example.

21606081/ OR
(<) ECGpuerer GeuafliamL Qup, Qar@ssiuLBerer C+F by o drar

QenpaanaT SeL .
(b) Debug the given C++ program to get
Output

The width of the box is :20
The length of the box is :67

Program

#include <stream>
using namespace std:
classes Box '

{
double width;

public::

double length;
int printwidth()
{

the following output :

cout<<"\nThe width of the box is Meewidth;
cout<<"\nThe length of the box is “<<length;

}
void setWidth(double wl);
}

void Box?:setWidth(doubIe w,double )

width=w;
length=1;

}
int MAIN()
{

Box obj;
b.setWidth(67.0,20.0);
b.print Width();

exit 0;

-000-
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